EREEEE (1Bl EA) BEEEMREEE) EERE st
A
106.1.4  |EPRECSEEAEN |FEEEET 1 A4 AR) SRS W= F
09:30-11:30
106.1.5 LREJLEERT | EEEHEERT 1 A4 AR) gk (AN g
09:30-11:30
106.1.5 SRR DR 3 A x150 ~ B3 27 & x40 ~ HEF 3 |8 A Rt I A
frasar 1 x50 ~ F&14 3 1 x100 ~ 25 90 L x5 ~ B AR TTEAR
gk 6 £ x50 ~ mRESE 6 L x30 ~ 1L | &
MBSE 15 fir x40.. 9% » $747:8,430 7T
106.1.5 AArB by | BEEL 68 { x25 » #T4:1,700 7T BB
IEE VNS EEE-E
JiE
106.1.7 =T R [E2 R 11 AR RIGZEIRE | M7
wEY 3:00-5:00
106.1.10  |BrgieBebe | EHAT 4 AUAZR) FERRER - | B4
T 2 AR S 8:00-9:00
106.1.11  |&FHEESF (32,500 7T BRhE AREE (WHESRTE
B2 I 004764
106.1.13 |F 00 2,000 7T RSN Sl o
152 FEK 004766
106.1.13  /INBKZEE |FRF 12 B x125 ~ Z4EmkiE 6 /1 |$E0) A =
x03 ~ JHE 3 x130 ~ IR IFA 3 |BEARTTER
¥ x65 ~ AETEHEZ 3 61 x79.. B 0 |fE
Hr&:4,637 7T
106.1.18  |Z£00 100 7T FEEEE ANE | WdE4RSE
N 004767
106.1.23 |5 00 L SERER A7 A1 x150 0 747,050 7T |$HED A Rt S
Y NSGEE-E
JiE
106.1.26  |ZELFEEE |4F32 4 {5 x600 > #7E:2,400 5B L T [
e 2 Y NSGEE-E
VN JiE

I




106.2.2 | SHET R [KEEE 200 {E x40 Ei= ) NANE Sy
= B Y NSEEE-E
JiE
106.2.2  |VLREULEEAT |EEEHEEET 1 A4 AR) gy (ARl R
09:30-11:30
106.2.4 S HET R B2 RN 11 AR RBZERE | T
2y 3:00-5:00
106.2.7 BraseBele [FERET 4 AUAR) FEPRRERfR- | B4
i 2 AR S 8:00-9:00
106.2.8 FRRITEEAT |FEEEET 1 A4 AR Sk E |BE= T
09:30-11:30
106.2.8  |/NBkEEE |FRF 16 2 x125 0 $14:2,000 7T =] VRN RSN
IEE VNS EEE-E
e
10629 |\ ARARELLS HEE 63 E x25  FT&1575 0T Ei=) ANk SRy
IEE VNS EEE - E
e
106.2.9 SR EE Dk 3 4 x150 ~ BN 30 1 x40 ~ HEE 3 |[{EB A B EE
TEg A1 x50 ~ FEA 6 1 x100 ~ & 60 HiI x5 ~ B A TIEVS
EIRESE 4 ML x30 ~ FERRSE 9 I x40 ~ K | &
=N 6 & x60.. 97 > ¥14:5,310 7
106213 | &EEEESE 32,500 7T EhE AREE (B SRSE
i =/ 004781
106.2.14  |JE# Eaﬂ“Hx 200,000 7T EUEYNETEwalve: £ o
AR R 004783
106221 |3B 00 ~ 5& (2,000 7T EPEhE NIREE (WHEARTE
00 TEEEER 004789
106.2.24 | F 00 5,00 7T FBNE N EE | IELRSE
HEER 004794
106.3.1 FRRTTEEHEN |E5amEERT 1 A AR) SRRy |(BE=EF
09:30-11:30
10632 |EHETHESE 2K 6 A x150 ~ #ESZ 27 A x40 ~ HEF 6 1B A B
TE=g A1 x50 ~ FEA 6 H1 x100 ~ & 90 Hir x5 ~ B AL TIES




EIRESE 6 ML x30 ~ fEHFSE 12 i x40 ~ |
K\ 6 6% x60... FYE » I160:7,680
-
106.3.2  |VLREULEEAT |EEEHEEET 1 A AR) gy (ARl R
09:30-11:30
106.3.4 EET R [E2 AN 11 A RBZERE | T
BET 3:00-5:00
106.3.7 HEEESE (32,500 7T BEhE N REE USRS -
5.2 I 004800
106.3.7 Bras e Bele [FERET 4 AUAR) FEPRRERfR-I | B4
M & Ak 75 8:00-9:00
106.3.9 ARARER O (L 100 [ x25 » $74:2,500 7T B H P
IEE VNS EEE-E
e
106.3.11  |/NBk2EEE |FRAR 16 1 x125 » $74:2000 7T =] VRN RSN
IEE VNS EEE - E
e
106.3.14 |E 00 500 7T FBNE NIREE | WELRTE
HEER 004805
106.3.15  |EiETRES | FRAEOM)3 F5 x960 ~ FRUE(L)6 546 x960 ~ |#E8) 1 - = 1
wEtye | GEEE 1 5E x900 0 1409540 7T IEE YN EEE-E
JiE
106.3.15  |$# OO FEHE — A E (04 4F) - F7E:18,000 |IBEN A I IESE
IEE Y NS EEE-E
oz
106.3.15  |&&= OO0  |hBIMEEE4ERE > $740:2,900 Ei= U RANEE Sy
IEE Y NSEEE-E
oz
106321 |22 00 1,000 7T BEE AREE (WHESRTE -
T Kk 004809
106.3.28  |#k OO 5,000 7T BEE AREE (WHESRTE -
=/ 004819
106.3.31 %k 00 2,000 7T BEE N REE USRS -




152 I 004820
106.5.3 F 00 500 7T FEIENEEE (USSR
= 5%:004850
106.5.3 FRRTTEEHEN |E5aEERT 1 A AR) =i S Ry el e
9:30-11:30
106.5.3 200 1000 7T BEhE N REE (USSR
= 52:005053
106.5.4 | LEEDLGERT | FEEREEAT 1 A4 AR) gk (AN g
9:30-11:30
106.5.5 PR FRAEM) 1 F5+960:3T4 960 It S~ | RANaE SNy
IEE VNS EEE-E
FiE
106.5.6 | SHETT R (B2 9EET 26 A G2 ERE | M7
BET 3:00-5:00
106.5.9 Prés &l |FEHET 4 N4 AR) TR R ER e —I | B4
TR eI 75 8:00-9:00
106.5.11 |5} 00 3000 7T EBE R 20 |UdE4R
EAFEREE A HT |57:005061
WS | TEEHEEK
106.5.11 | &=ETAZE (5000 7T B R 20 (WIE SR
wEY HEEE A 97005062
Wb | TEENHEEK
106.5.11 | SHETTEEE (5000 JT R R 20 USSR
wEY HEREE A 97005063
Wb | TEENHEEK
106.5.11 | JUFEFEA: [5000 I HEIE R 20 |UE4R
[iE ANl HEREE A HT | 57:005064
WS | TEEHEER
106511 |&HFEESE (32500 7C BENE N\ REE (UESR
e i=E 52005058




106.5.11 |5 00 HEEE A 100 F%6 Lefal 18 B*11; | IBBh A TS
P& 798 7t B Y NSEEE-E
JiE
106.5.11 |2 00 5000 7T FEEEER 20 | W5 4R
R A T |95:005060
IR | SEEHERK
106.5.11 | AR ARELLYT (HEEL 85%25 : #T& 2125 7T HBh T
IEE Y NSEEE - E
.
106.5.13  [/NikEE= |FJRE 12 8 x125 ~ ABC HAM 40 BB A EE
*Q5 ~ VDEHE 4 F1*119 ~ BREK 4 E1*88 ~ |[EE A TS
YHIE 4 1769 ~ TBER 4 6565 ~ JBE |
4 81 x39.... Y& - I8 5207 7t
106.5.15 |F 00 2000 It BEE NREE | IESR
= 52005065
106.5.16 |F 00 3000 7T B R 20 (WiESR
AR T | 97:005075
Wb | TEENTERK
106.5.16  |# 00 20000 7T R R 20 USSR
R A T |95:005074
Wb | TEENHEEK
106.5.16  |FAEZE AFA (5000 7T FEIEE R 20 | U5 4R
17 2EH HEREE A HT |57:005072
EFEEE [l s
Nbs | TEENTEER
106.5.16 | EHEHESS 5000 JT B R 20 |UE4R
2EE T MR H |57:005071
& TR A
Wb | TEENTERR
106.5.16  |tHEZEAS (5000 It B R 20 (WIE SR
TR HEREE A T 97005073

=ERERS




Uil o TEEIRRK

106.520 |5 00 FEF- 40 E*35 BHEBLS 10 @420 7 & B 20
1600 PR
Vb5 | TEEHEREK
106520 |MH&EEEA 2kG 27)300 £*150 7T 5 FT& 45000 | BN £ 20
PR H] FEREE A
Viihs | TEEHERK
106520 | EHE KR |HH{F 400 F1¥40 » KK 11 2}K¥280:4T | 1EBNIEE £ 20
zZEGg |4 19080 7T FERE A FH
Iil5  JEEDHERK
106.520  |#4 00 FE- 1800 F8*35 5 H1& 63000 BB R 20
HEREH
Iil5  JEEDIERK
106.5.20  |f# OO PEJT 4 Kr#750 5 74 3000 7T 1B 71 F 4 T
B N 55885

JiE
106522 | EHEHREE | /KEHEE 30 £3%200 ~ HE 60 &*10 ~ | $HB) A FH 1 &
hEe EDH: - AR 60 TE*30 ~ FE/L 60 | [BEAKITTEF

#3 ~ LTJEE6E 30 FE40.... FWE T |BE

& 14580 7T




